
 

 

Answer on Question #68030 - Math - Statistics and Probability 

Question 

When you toss 5 coins once, if the number of head(s) is the random variable define 
on the resulting sample space. What is the set of random variable resulting from this 
experiment? 

Solution 

When we toss five coins simultaneously, the corresponding sample space 𝑆 is  

{𝐻𝐻𝐻𝐻𝐻, 𝐻𝐻𝐻𝐻𝑇, 𝐻𝐻𝐻𝑇𝐻, 𝐻𝐻𝑇𝐻𝐻, 𝐻𝑇𝐻𝐻𝐻, 𝑇𝐻𝐻𝐻𝐻, 𝐻𝐻𝐻𝑇𝑇, 𝐻𝐻𝑇𝐻𝑇, 𝐻𝑇𝐻𝐻𝑇, 

 𝑇𝐻𝐻𝐻𝑇, 𝐻𝐻𝑇𝑇𝐻,   𝐻𝑇𝐻𝑇𝐻, 𝑇𝐻𝐻𝑇𝐻, 𝐻𝑇𝑇𝐻𝐻, 𝑇𝐻𝑇𝐻𝐻, 𝑇𝑇𝐻𝐻𝐻, 𝐻𝐻𝑇𝑇𝑇, 𝐻𝑇𝐻𝑇𝑇, 

 𝐻𝑇𝑇𝐻𝑇, 𝐻𝑇𝑇𝑇𝐻, 𝑇𝐻𝐻𝑇𝑇, 𝑇𝐻𝑇𝐻𝑇, 𝑇𝐻𝑇𝑇𝐻, 𝑇𝑇𝐻𝐻𝑇, 𝑇𝑇𝐻𝑇𝐻, 𝑇𝑇𝑇𝐻𝐻, 𝐻𝑇𝑇𝑇𝑇, 𝑇𝐻𝑇𝑇𝑇, 

 𝑇𝑇𝐻𝑇𝑇, 𝑇𝑇𝑇𝐻𝑇, 𝑇𝑇𝑇𝑇𝐻, 𝑇𝑇𝑇𝑇𝑇}, 

where 𝐻 is denoted for a head and 𝑇 is denoted for a tail. 

The dimension of the sample space |𝑆| = 25 = 32. 

If we denote by random variable 𝑋 the number of heads, then 𝑋 takes on the values 
{0,1,2,3,4,5} with the corresponding probabilities 
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, 𝑘 ∈ {0,1,2,3,4,5}. 
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